X:(3000) 2 KWL I 2H:(3100) sS4 AHH Y 5:(3150) sAHE RE - OIS 235 HIBtH: (3151)HMEEXE MAD|IBIEA Ho(Ss: &9
ni: =
of &b oA A = Pl =
X BB AIE MIAIE =
3000 - c .
> RIIHE | 7 878.781 [=2 178,189 & 4,277,868 J| 1,894,924 = 1,527,800 = 0]
i@mH%m 7 878 781 [=2 178,189 & 4,277,868 J| 1,894,924 # 1,527,800 = 0]
ii?g o= . O13E 23 7 878 781 (=2 178,189 & 4,277,868 J| 1,894,924 = 1,527,800 = 0]
ga}ggmg M AR BFR A 3 595 751 (= 178,189 & 1,522,638 J| 1,894,924 = 0 = 0]
i?&mw 3 595 751 (=2 178,189 & 1,522,638 J| 1,894,924 0 = 0]
QOEM% 5 105 501 [=2 178,189 < 32,388 J| 1,894,924 0 = 0]
202
o4 2,250
2,250 101 2LH0iH]
FTADES KIS H S AL =& 2,250
= 0 = 0 Dl 2,250 & 0 =2 0]
308
XX SHSOI A 4,714
4,714 101 IXSHBAEEXZ
FTAXI & Xt S H & ALY =& 4,714
[=2 0 = 0 JI 4,714 7 0 =2 0]
403
XX SR A= 0| & 2,098,537
2,098,537 |01 RXISHHA=2EX
WS2AXY| X 178,189
(= 178,189 & 0 Dl 0 & 0 =2 0]




Z:(3000) Z HIJHEH 2:(3100) s =4 2| &:(3150)=satE RS - OHHIE 25 Mg (3151)J0SSAaE da|grxd [SSR0DH] (e E&)

i} =2
of &b oA A = pl =
X BB AIE MIAIE =
D2H S X2 = 1,780,000
[=2 0 < 0 J1 1,780,000 & 0 = 0]
FTADI 2K AL (M ALAI LB Y5 = 140,348
[=2 0 < 32,388 DI 107,960 = 0 = 0]
220
KEAI AL 1,490,250
308
XX SHSOI A 36,000
36,000 |01 XIXISHBABEZ
D4 = 0Hs B2 T ol 2 & Xl 2 (300ha) = 36,000
403
XX S A K2 0] & 1,454,250
1,454,250 |01 XXISHHA=2EX
A0 DI =S XK (20ha) = 150,000
AAR0Z S H R SR (1001 2) = 75,000
A0 X E 2K (1090 A) = 100,000
2 S ASHII| X2 (5000) = 33,000
DX HRRAUHME=2EA(8IHA) = 120,000
H A THEHAFATE OO0 & (20S) = 57,000
HIY5IRAS NS = 250,000
AR D (3ha) = 22,500
Ol Akl 3 TH Bl (500ha ) = 32,250
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Z:(3000) Z HIJHEH 2:(3100) s =4 2| &:(3150)=satE RS - OHHIE 25 Mg (3151)J0SSAaE da|grxd [SSR0DH] (e E&)

i =
O &b oA &t £ Dl e
=28 N AN <
DE QA4 AFXEIH X! (400ha ) = 18,000
HANARANS R ZS (4H L) = 60,000
M OrE S BHEHXI X 4 (400a) = 36.000
SAWSAELEH (5ha) = 22,500
WA S (SAOFAE) 2 RIXI2 (4,000ha) = 280,000
AMISIH RIS X & (100S) = 150,000
210 52 & 92 24 X DI XHH K2 (5000H) = 30,000
DX B SN BMA S X (300a) = 18,000
3152
SSag BE Y HES 746,000
100
A0 & 189,000
120
3 A=A 189,000
307
BIIOI & 189,000
189,000 |04 BI2H4 AR X
HE S0 YA = 50,000
HEAl e STy = 50,000
ATIHIOIOTES A E&YS - 9,000
HHO0| XX = 20,000
LHOIMEFIX 2 = 50,000




$:(3000) 2 RN b 2+:(3100) S A JH Y 5:(3150) sAt2 RE - OIE 23 Mg (3152) sS42 BE U HEF [SE2A0D] (S &)
nj; =
Ol &b oH At = p) =
I BB KR S =
NS =R AZetet s &0} = 10,000
200
AL Ol A 557,000
220
X Rl Ab 2 557,000
308
XX SHHI S 0] & 42,000
42,000 |01 XIXISHHBAE RS2
SAANZERZEHAS(052) = 15,000
AAMETREAMEEXA(IER) = 27,000
402
CIEIYENIFS! 45,000
45,000 |01 RIZHK 22X
SSASEHRSFASIINY = 45,000
403
Xt X S /I K= 0| & 470,000
470,000 01 XIXIGHHI A= & =
CREA0IBIHTAEHSH (50S) = 75,000
2 2SS AT KON A = 95,000
MY HBHERQSESEN A = 300,000
153 _
Cas o=ax A 2 627030 [=2 0 £ 1,099,230 DI 0 & 1,527,800 & 0]
100
2 ALY A 116,170




Z:(3000) 3 MIoH 2 Hl 2+:(3100) s == 4K g (3150)s8t2 RS Mgt (3153) = HE
2t =
& o =
28 NIE, AIAIE
110
pals] 60, 150
101
el 2| 60,150
60,150 |08 JIEtX 2 ==
=E=1
A U2 3,929,625 X1&X12&
HhEE
B < At 30,0002 X1&8 X122
S 20t 20,000&X1EX128
Scl=4|
S i= 130,000&X1&X128 =
HOtE &8l 3,929,625 X1/30X10& =
ANzZtel2 e ¢ 8, 1143X67 Al 2tX128 =
Ag 22| 250,000 X18X128 =
120
o534l 56,020
201
2et=g 20,040
20,040 |01 B2 HI

T
x
H0

08
He
1%
bl
!
e
Ho
08
I




Z:(3000) Z HIJHEH 2:(3100) s =4 2| g:(310)sME RS Mgt (3153) = T
i =
&b oH x
J2 B AE MAIE =
202
(G]=] 35,280
35,280 |01 =IO I
gR=a =
301
detEY = 700
700 | 10 S AHAHI
sSHUESSH2AIR Y
SHSUSAUSHH2 SRS
200 (= 0 < ==
AL Off & 2,510,860 o
0 = o ' =
SXAY 1,800,860
403
KX X201 1,800,860
1,800,860 |01 KtXIEHHM A= 2 &
SASLX
[= | 2
EFHES
[= = 2
220
AHHI A 710,000
306
£33 220,000
220,000 100 &&=




Z:(3000) Z HIJHEH 2:(3100) s =4 2| &:(3150)=satE RS - OHHIE 25 NIg:(3153)s a2 RE7E MM [SSR0DH] (e E&)

ni: =
ol &b o A = pl =
X BB AIE MIAIE =
SHEMS NEHH 2Y 220,000
403
XHX SHRI XH2 0] & 490,000
490,000 |01 XXM K28 =
WERMN2IED|BHE= (500 ) 150,000
SASH2HEDEZ M A (500H) 15,000
MISEM2MEAISX 325,000
3154
- ILL 910,000
100
A0 A 42,500
120
AR AY| 42,500
202
o4 27,500
27,500 |03 =22/ 0]
R PNESPIES! 27,500
301
UBIE A2 15,000
15,000 |07 QI2+O1=22| 04 H|
EAPNESPIES 15,000
200
AR Ol AF 867,500
220
KHRIAFSS 867,500




t'

Z:(3000) Z HIJHEH 2t:(3100) s == &KL Bl &:(3150)=satE RS - OHHIE 25 Mg (3154) =S4 4018 =4 [FSR0ID] (e

ra
o

ni; =
Of &b o &t = I ES
mL 2B NE, HAIE =
308
XX S S 01 & 175,000
175,000 |01 XtXISHH B A 2 X2
SSNM2 SEEYNY = 150,000
SSAZ HESZA = 25,000
402
IR0 A 185,000
185,000 01 QI2I A= 2 X
LR =SSO QAR H = 160,000
HLILIOIOIE B4 EAE o MASTSO = 25,000
403
KX S K201 & 507,500
507,500 |01 XtXIEHAIXHE @ &
SERUSHF SR E A (4ha) = 90,000
+E8 WEETD DYXA(3ULR) = 150,000
SENNSAE SESHSIA (100H2) = 75,000
S~E=THAE 29 (30H2) = 112,500
SES5E0F AXILEAIL X (8HA) = 80,000
£ N B A 7,878,781




